(7)

EMTIN?

rahE, IRPE L £
55

LT

ATGT=0

(b 2L
AL D b
HiETHBEM TN T 2T,

LAE O R AT

"FHY .
TH | 226
HT A2 L ﬂ’i;‘i‘

P H &

KODEEBELY»TT, ENFIZZIT: Lo,
HEMWE | BH | % A B 8 i =
1t MR
= RIS 61 13:00~ | p4i. Fsi
RAARE | 7 AR 16200 [EH Y
x K
£ FHE Rrabile ﬁ;‘gw Jfl i,
— 28H | T 28 el
BRI RAR TR o
“HHEBE :
- e K S
X iR BRPRE| 15130 [N I
29H |(B& Q,ei&_Jl}r | ";i-‘qtil"‘..'.”,-"}ﬁw"
E LR 50) ..’u:ft:'l.* TG
|
Tlllia#E
EIAME | 300 | HIlaaR| AR BT
+=FHE —
———— 31| iRm0 307
X FﬁiﬂlE -
- . (S 7 S48, 103 4L
9 f Y 3:00~ |mOK
A EBE :%”ll ggu 7 4 N (1)3:00 i'ﬁj?:*fmﬂ:fﬂﬁ#
ke N ) AR St
- —- — A AH
(e 9130~ |(iik KR WA
FTAR| TR amm) oo jpelaie
B S - 24 Ak TR (N2 8 7)
v T v A (v 13 9
A6 & W & 4 B fe il RIS o 1 =
WO & N R AL E o140
B NK~AHE ¢ 16 4¢
BEAXKAHKZ | &8 K o HE
W2 ] 7 oAl oA Py E] 12
2wk e R 7ok K ) v
fif ¥ v C WL oW i
~ Jif 0% E oK B
7 7 L 3 &= A A~
] v T T CEET
¥] b 5 H i i
2 B 80 I . B 2o
A = e

L

&L A4HAF

=

(o —ro3F

MO EEES (349-3111TT =

H % It W v 5 H i
POEE > b A E RS & e
b |-5%1 b =LL L1 ‘ri“ I - -U'j it 'ﬁi; #H3 .i_]i
K~ 58 " TP APRM ik
NS HESRE L o RO X g
4 — b E T B &EHE 2 LN
2B L D5 EEMLE T &K
LA TFHHOSL 2 E S 2
F LN EE»E A~ D
T A A TR AME NT L
"vEBESO0BO-ATE ° o I
Sl T AN o= AOE (i
i 6L oEE vh®» R C
ik B hET "2 F T i3]
D5 Do v H K
LT oM ZnLTYD
B SR .
Hit:T > bt v -®39—7
(17 I T S/ i |
- B 5 BEF 3B T ¥ 1 i f’gi.‘n.**;
W CTIZCE e s S HERMOK LM
E O Mz s R o F®@F L A B L'Cf. CEg
EeViab<d <57l MiET KL
HEHAHME - T 7 o OV g f&L # ik
M @ TE 2 7 g %M T K IR Bh
L 2 v L 2B AP L BOEE O 2 58 -{-. ¢
(2 LI PO R I S S fF L d ik 2 & & gy R ol =Y
LH 24+ & H LT o E WY
8 ¥V iz & M T
e 9 bR R LU
40 H ;‘2 - A =
5 4 o L & & L
{ n W E $ALT
§ ) £ gt
e K B T
w40 =~ M % 5 % % 3
N ar Rt °
(/) st - |
'h C B A
4 h O %
ul — 7p A
i () HUBREEBE O t,
v/ 14 12 10 8§ ¥ 14 12 % 11 10
0 H'l 9 H: i23 I o9 e 7 I n-.’;=
# 30 H f f {30 H {7 20 .
4 4r 6 16 1% 11 ;} 5 16 %l 12 & 45 48 m
'y B e BE BEF Y OHEE R g R K
H9 —~ A5 50 207 9 —~ 50 4 50 fgF 11 FF 50
W A BT r sr oy B WE K oy R P R WE
20, ~ )N gy W] 30 ~ 50 AT
4% b Il &Y i FX A+ G
7 Iis A T K
2 Fk Fi s, Y Hh B
= Iii I i ¥ ] ¥ 5l
E-3 % B 2y #M B
5] “‘f‘i? e = a X B [
XILSEEHEE — B T S

o 75—~ FERERRE

108 4R
FEE? 4 ILN—E=—~TEEF
10B18H( 19:00~

SiE 2,500M AR 2,000M
BE 1,500 #AS#8/20%%

*® 18:30~

SHE 3,000 AFE 2,500M
BJE 1,500 =A$#8/271%%

(9"’3"J !\@352265[3?530)7[/1’731’}«?)

ML T (ARt RSl

TﬁESHI:nEE #‘A:It“l$#iﬁ7‘c¥ﬂﬁﬁ(1'.l’ﬁ) #:k:lt‘i‘-r}b/\zﬁ —5 +Jbﬁﬁﬁ$mFﬁ\L‘ ?_‘ ( :‘EEE/

3y EX Ty — RAEE(KE), AFRMEME (TEM) . FEEME (+=57) . EALTTA, & v X 3 KRS




